CONGRUENT TRIANGLES
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1.

4 The diagram shews four triangles.

2NN

10cm

Triangle A

10cm

Triangle C

Two of these triangles are congment.

Write down the letters of these two triangles.

10cm

Scm

Triangle B

Triangle D
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(Total for Question 4 is 1 mark)
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14

The diagram shows a rectangle, ABDE, and two congruent triangles, AFE and BCD.

A B
309 &l
24cm 24cm
F C
E D
area of rectangle ABDE = area of triangle AFE + area of triangle BCD

AB:AE=1:3
Work out the length of AE.

(Total for Cyuestion 14 is 4 marks)
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ABCDY is a parallelogram.
ABRP and QD are straight lives.
Angle ADP = angle CHQ = 90°

(a) Prowve that riangle 40P s congruen to rangle CBO.

(b} Explain why 40 is parallel o PC.

(Total for Question 21 is 5 marks)
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1} ABCD iz a parallelogram.

B
£ iz the pont wheare the diagomals 4C and B0 mest.

Prowe that oiangle ARE is congruent to wiangle CODE.

{Total for Question 12 is 3 marks)
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¢ R
PO = PR,

& 15 the midpoint of FO.

T iz the midpoimt of PR,

Prove tmangle (TR s congruent o triangle £50,

{ Total for Question 17 is 3 marks)
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13 4BCD 15 a thombus.

M and N are points on BD such that DN = MB.
Pron-e that tnangle DNC 1= congruent to nangle BMT.

(Total for Question 13 is 3 marks)
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L
= Diagram NOT

accurately drawn

AOC and BO are diamieters of a circle, centre .

Prove that triangle 45D and triangle DCA are congruent.

{Total for Question 28 is 3 marks)
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P Diagram NOT
- accurately drawn

The diagram shows a triangle ABC.

LMNE is a parallelogram where
L i the midpoint of A8,
M is the midpoint of AC,
and N is the midpoint of 8C.

Prove that triangle ALM and wiangle MNC are congruent.
You must give reasons for each stage of your proof.

{Total 3 marks)
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In the diagram, AB and DC are parallel lines of equal length.

D C

e
Eal

Mot to scale

W

A B

Prove that angle DAB = angle BCD.
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11 (a) Are these two triangles definitely congruent?
Give a reason.

Not to scale B

(b) Prove that these two triangles are congruent.

Not to scale H

E
36" a0°
F
K
Scm
-
7cm L
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11 The diagram below shows two triangles.

Mot to scale

Prove that triangle ABC is congruent to tiangle ACD.

. [4
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10 ABCD is a quadrilateral.
AD = AB and CD = CB.

Not to scale

C

Prove that angle ADC is equal to angle ABC.

. [4]
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13 Aand B are points on the circumference of a circle, centre O,
CA and CB are tangents to the circle.

A

Not to scale

B

Prove that triangle OAC is congruent to triangle OBC.
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/D /U
A < B

Prove that triangle ABD is congruent to triangle CDB. [3]

14.

10 ABCD is a parallelogram.
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2

Mot drawn

accurately

[20°
5cm 9cm
Circle the reason why these friangles are congruent.
[1 mark]

RHS ASA 888 SAS
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20 A, Band C are points on a drcle.

CDis a tangent.
Mot drawn
accurately

20 (a)  Assume that triangle ABC is isosceles with AC = BC

Prove that AB is parallel to DC.
[4 marks]




20 (b) In fact, tnangle ABC is equilateral.

Tick the two boxes for the statements that must be correct.
[1 mark]

AB is parallel to DC

AC bisects angle BCD

AC bisects angle BAD




AQA GSCE — Tuesday 6 November 2018 — Paper 1 (Non - Calculator) Higher Tier
17.

11 Here are four triangles.

8cm

Mot drawn
accurately

Which two triangles are congruent?
Circle two letters below.
[1 mark]
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329 ? cm Nﬂt d[ﬂwn

accuratel
7cm y

32°

Circle the reason why these triangles are congruent.
[1 mark]

SS3 SAS ASA RHS
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8 This shape is made from two triangles and four congruent parallelograms.

Mot drawn
accurately
For each statement, tick the commect boo.
8 (a) The triangles are equilateral.
[1 mark]
Must be true
Could be true
Must be false
8(b)  The triangles are congruent.
[1 mark]
Must be true
Could be true

Must be false
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2 Which of these is not used to prove that triangles are congruent?
Circle your answer.

[1 mark]

SS85 SAS AAA RHS



